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1:

(a) Write notes on any two:
(i) Sources for issue of fully paid bonus share.
(ii) Sources and conditions of buy back of the shares.

(iii) Sources for payment of dividend (3+3)

(b) XYZ Ltd. Invited applications for issuing 50,000 equity shares of T10 each

payable as under:

On Application ¥3 per share

On Allotment ¥4 per share

On First & Final Call ‘{3‘ per share

Applications were revived for 75,000 shares and prorata allotment was

made as under :
(i) Applicants for 40,000 shares were allotted 30,000 shares
(ii) Application for 35,000 shares were allotted 20,000 shares

Raghav to whom 1200 shares were allotted out of the group (a) failed to
pay the allotment money. His shares were forfeited immediately after allotment
Shyam who applied for 700 shares belong to group (b). He failed to pay the

first & final call amount. His shares were also forfeited.

Out of forfeited shares 1000 shares were reissued @ 38 per share fully paid
up including all the shares of Shyam. Pass the necessary journal entries.

Please show the working notes clearly.

OR
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(a) Calculate minimum fresh issue of equity shares required for redemption of

preferences share on the basis of the following information :

(i) 20,000 preference share of 10 each are to be redeemed at 10%

premium
(i) Balance is surplus account 380,000
(i) Balance in securities premium reserve account ¥10,000
(iv) Fresh issue of equity shares of Z10 each is to be made at 10% premium

What will be your answer if the redemption of preferences shares is

to be made at 20% premium. (4+2)

(b) Seema Ltd. issued 10,000, 12% debentures of 100 each on 1st April,
2021. Interest is payable on 30th September and 31st March EVery year.
On Ist July, 2022, the company purchased 1,000 of its own debentures at
397 ex-interest as investments. On 1st January, 2023, the company purchased
another 2,000 of its own debentures at 98 cum-interest as investment.
On 31st March, 2023, the company cancelled all its own debentures.
The company follows financial year (that is 1st April to 31st March) as an

accounting year.

Journalise the above transactions in the books of Seema Ltd. for the
year 2021-22 and 2022-23. It is assumed that all the compliances
regarding creation of DRR and DRI have been completed before making
redemption. (12)

2. (2) Explain the conditions for amalgamation in the nature of merger as per
AS-14. How the amalgamation in the nature of merger is different from

amalgamation in the nature of purchase? (6)

ET.O.
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(b) The Balance sheet of BRC Ltd. as at 31% March 2023 appears as below :

Particulars 4 3
I. EQUITY AND LIABILITIES:
1. Shareholders’' Funds:
1,50,000 Equity Shares of 10 each fully paid 15,00,000
5,000, 11% Preference Shares of T100 each fully paid 5,00,000
Surplus i.e. balance in Statement of Profit & Loss
(Negative balance) (10,40,000)
2. Non-Current Liabilities:
11% Debentures 5,00,000
Tnterest accrued and due on debentures 1,10,000
Unsecured Loans 5,00,000
Interest accrued and due on unsecured loans 1,50,000
3. Current Liabilities:
Bank Overdraft 6,30,000
Other Current Liabilities 5,00,000
TOTAL 33,50,000
II. ASSETS:
1. Non-Current:
Fixed Assets at Cost 20,00,000
Less: Depreciation Provision
(9,00,000) | 11,00,000
Current Assets:
Stock and Stores 6,00,000
Receivables 14,50,000
Other Current Assets 2,00,000
TOTAL

33,50,000
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A scheme of reconstruction has been agreed amongst the shareholders and
the creditors, with the following salient features:

(i) Interest due on unsecured loans is waived.
(i) 50% of the interest due on debentures is waived.

(i) The 11% Preference Shareholders® rights are to be reduced to 50%
and converted into 15% Debentures of 2100 each.

(iv) Other Current Liabilities would be reduced by ¥50,000.

(v) The equity shareholders agreeing to bring in an amount of %1,00,000
by way of new equity share of ¥4 each

(vi) The equity shareholders agree to reduce the existing equity shares into
1,50,000 equity shares of ¥4 each.

(vii) The negative balance in the Statement of Profit & Loss is to be wiped
out. Provide ¥2,60,000 for doubtful debts and increase the value of
fixed assets by ¥4,00,000.

Pass Journal Entries & Prepare Reconstruction A/c. (12)
OR

(a) Write a note on any three methods used to give shape to the scheme of
internal reconstruction. (6)

(b) The Balance sheet of A Ltd is as follows :
Equity & Liabilities

2500 equity shares of 100 each : 32,50,000

Surplus Account : 3(80,000)
Sundry creditors : %1,25,000
Total : 32,95,000

PTO.
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Assets

Land and building : %1,30,000
Plant and Machinery : %75,000
Stock: 60,000
Debtors: 320,000
Cash: 710,000
Total : 32,95,000

A Ltd is liquidated to form B Ltd under a scheme of external reconstruction.

The authorised capital of B Ltd is ¥10,00,000. The business of A Ltd is

taken over on the following terms :

(@) Issue of 2500 equity shares of Z100 each at T60 paid up to equity
shares holders of A Ltd.

(i) Payment of ¥25000 in cash to equity shares holders.

5 Shareholders holding 200 equity share dissented to the scheme and

their interest was purchased at 50 per shares.
(i) All assets of A Ltd are taken over except cash.

Calculate the purchase consideration. Pass the necessary journal entries in
the books of A Ltd and prepare Realisation account and Equity shareholders

Account. (12)

3. The following are the balance of P.K. Limited as at 31 March, 2022 :
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Items (Dr.) % | Items (Cr) 3
Opening stock 1,50,000 | Equity share capital 5,00,000
Purchases 3,80,000 | Purchase returns 10,000
Wages 60,000 | Sales 11,50,000
Carriage 2,000 | Discount 6,300
Fumiture 25,000 | Surplus Account 1,70,000
Salaries 12,000 | Sundry creditors 33,700
Rent 15,000 | General reserve 82,000
Trade expenses 11,000 | Provision for doubtful debts 3,000
Sundry debtors 54,000 | Bills Payable 13,000
Plant and Machinery 12,00,000 ‘

Cash at bank 21,500

Patents 9,000

Bills receivable 14,000

Bad debts 6,500

Discount allowed 8,000

Total 19,68,000 | Total 19,68,000

Additional information :

(i) Stock on 31 March, %2,00,000.

(i) Depreciate plant and machinery at 12% furniture at 10% and patents at

20%.

(1) Further bad debts amounted to I4,000. Provide 5% on debtors for bad

debts.

(iv) Provide for income tax @ 35%.

PTO.
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(v) The Board of directors recommended a dividend of 25%.
(vi) Transfer to General Reserve 10% of the Profits.
Prepare statement of Profit and Loss for the year ended 31 March 2022 and

balance sheet as on that date. (18)

OR

(a) Write note on the following :
(i) Three advantages of cash flow statement.

(ii) Three differences between AS 3 (Revised) and IND AS 7. (3+3)

(b) Following are the summarized Balance Sheet of Telco Ltd. as at 31st March,
2021 and 2020 :

Particulars Note 31.03.2021 | 31-03-2020
No. 4 T

1. EQUITY AND LIABILITIES
1. Shareholders' Funds
(a) Share Capital 13,50,000 13,50,000
(b) Reserve and Surplus:
(i) General Reserve 9,30,000 9,00,000
(i) Surplus Account 2.04,000 1,68,000
2. Non-current Liabilities
(a) Long-term Borrowings:
(i) 10% Mortgage Loan 8,10,000 —
3. Current Liabilities
(a) Trade Payables (Creditors) 4,02,000 5,04,000
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(b) Short-term Provisions:

(1) Current Tax 30,000 2,25,000
Total 37,26,000 31,47,000
II. ASSETS

1. Non-current Assets
(a) Property, Plant & Equipment 9,60,000 12,00,000
(b) Non-current Investments 1,80,000 1,50,000

2. Current Assets

(a) Current Investments 21,000 17,000
(b) Inventories 6,30,000 7,20,000
(c) Trade Receivables (Debtors) 13,65,000 4,30,000
(d) Cash and Cash Equivalents 5,70,000 6,30,000
Total 37,26,000 31,47,000

Additional Information :
(i) Investments costing ¥24,000 were sold during the year for ¥25,500.
(11) Provision for Tax made during the year was ¥27,000.

(i) During the year, a part of Property, Plant & Equipment costing 30,000 was
sold for ¥36,000. The profit was included in the statement of Profit and
Loss.

(iv) The Interim Dividend paid during the year amounted to ¥1,20,000.

You are required to prepare Cash Flow Statement as per AS 3 (Revised).

(12)

4. (a) Briefly explain any three methods of valuation of shares. (6)

ET.0.
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(b) The following is the summarized balance sheet of Krishna Ltd. As on 31
December 2022

Particulars Note No. X
L. | EQUITY AND LIABILITIES
1. Shareholders’ Funds

(a) Share Capital (50,000 Equity Shares of 10 each) ' 5,00,000

(b) Reserve and Surplus:

(i) General Reserve 2,39,400
(i) Securities Premium Reserve 1,00,000
(iii) Surplus Account (Balance) 1,57,600

2. Non -Current Liabilities —

3. Current Liabilities

(a) . Trade Payables (Sundry Creditors) 4,09,400

(b) Short-term Provisions (Provision for Tax) - 1,97,000

Total 16,03,400
IL.| ASSETS

1. Non-current Assets:

(a) Fixed Assets (Tangible)
(i) Plant & Machinery 2,40,000
(i) Furniture 1,00,000

2. Current Assets:

(a) Inventories (Stock) 6,20,000

(b) Trade Receivables (Debtors) 2,06,000

(c) Cash and Cash Equivalents :
(i) Cash in hand . 3,400
(i) Cash at Bank 4,34,000

Total _ 16,03,400
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The company transfers 20% of its profits (after tax) to General Reserve. The

Net Profits before tax for the last 3 years have been as follows -

Year Ended 4

31-12-2020 2,75,000
31-12-2021 3,94,000
31-12-2022 3,66,000

Machinery is valued at ¥3,20,000. Average Dividend in this type of business
is 20%. The rate of Tax is 50%. Calculate the value of one equity share on

the basis of :
(1) Intrinsic value
(i) Yield basis

(i) Fair Value (12)
OR

(a) Explain any two of the following :
(1) Economic value added
(i) Market value added

(1) Shareholder value added (3+3)

B0,
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(b) The following particulars are available in respect of the business carried on

by a company :

(i) Profits earned for the years:

L4
2019-20 2,00,000
2020-21 2,40,000
2021-22 2,20,000

(i) Normal rate of return 10%
(iii) Capital employed ¥12,00,000
(iv) Present value of an annuity of one rupee for 5 years at 10% = 3.78.

(v) The profits included non-recurring profits on an average basis of 33000

You are required to calculate the value of goodwill ;
(1) As per 5 years’ purchase of super profits.
(2) As per Annuity Method.

(3) As per capitalization Methods (12)

5. (a) From the following information calculate Debt equity ratio, stock turnover

ratio and inventory holding period :
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Particulars <
Preference share capital 1,50,000
Equity share capital 5,50,000
Capital reserve 2,00,000
Surplus account 1,00,000
Debentures 2,70,000
Average inveﬂtory 40,000
Sales 2,50,000
Profit on sales 20%

Take 360 days in a year

(6)

(b) What is the meaning of corporate financial reporting? What are the main

objectives and types of corporate financial reporting?

OR

Write notes on any three :
(1) Sustainability reporting,
(1) Triple bottom line reporting.
(iii) CSR reporting.
(iv) Segment reporting.

(v) Calculation of EPS as per AS 20.

(12)

(6+6+6)

L0
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(a7) ol @ W feonh foRee :

(i) ot geen A=E FR T F F Y B |
(i) T R AT F A W |

(iii) = D R ® g A (3+3)

(@) v iR 3 10 T & 50,000 FREA IR A B F oY AT SR

e 2, o FeaEr 3 2
AT W 3 WA AW

JEeT W T4 Wi AW

TEel 3R sifow e W 33 9 AW

75,000ﬁuﬁ$ﬁqmﬁaﬁ$ﬁﬁﬁmwsﬁtwﬁm (WRTeT) FEET
R fohar e

(i) 40,000 FRY & o FFTH F 30,000 IR A e 7 A,
(i) 35,000 ¥ & Fre e ¥ 20,000 I Efew fovy M D

T, R e (a) ¥ ¥ 1200 R Jeien Brg M A, grere A A AT FH
3 frwet TN ST B A AT A B I e o forg e A, T W (b) B
700 T & Fre e Rear oM 95 TEA AR SR Bl TR W TR R A
fawmer e SuS AW N = W o @ Al

s e g 3 N ¥ 1000 TR A 8 TR AR FW A W A A I fewar
SR et ot S 2 e, T T & e e i A S e wrafted
' TE N FII FE Aew A W w9 e
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(37) F=foias e & SMUR W 909 W AW B AEA @ o Sews Ihad

I & ~geaH ¢ i @ o R
(i) v 10 T = 20,000 FqFW W WK R 10% VAGH W SF@T = 2,
(i) ey @ ¥ A9 af¥ 80,000 T 2,
(iii) wiergf Miftaw sRfEm @@ A AW wf¥r 10,000 2 2,
(iv) 10 3 v & SR IR w1 Y W 10% M w v aEr )

e gl (W) W o Rewwee 20% Mitmw w ffar s 2 < siaet Se T
B ? : (4+2)

drn fafis 7 1 3w, 2021 Y 100 T D 10,000, 12% RFR T U =S w
el 30 Rder sl 31 9 B 7 311 G, 2022 A, FEN ARG D WX 9%
T4 - W A W@E @ 1,000 ReER @@ 1 v9ad, 2023 ®, w9 A R @
A 987 THH- FEWE (cum-interest) W U WA & 2,000 FT RBAR @A 31
A, 2023 H HEA 7 FoH N B w@ R Rul FE Fdm ad ) & o o
AR B (FF T I A 31 W)

af 2021-22 3R 2022 -23 B for Grn ffERE & gl § IR FRT T T+ A

@il I8 Ao W ? R R Rwww Red (Semem) $i RV s

FAEAT (SoRAE) B G F N FIIEE AT W vEe R a9 e e R
(12)

2 (&) oiEleT WIelt-14 (AS-14) & FER faem ¥ wiee & 36 o o e

oo =t Rl ¥ womer @l o Rl  weem 3 fhe o R 2 (o)

(@) 3199 2023 = HIRA Fifies o dofw Ne @ vaw 2

20
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Taawor z 4

I sfadt IR IR :
1. IRURHI & BS:

210 & 1,50,000 SRFEA qUf g AW 15,00,000
5,000, T100 & 11% Qg T el AW 5,00,000
FRRY e @™ R T @ fEwer A Jw Al

(PR W) (10,40,000)

2. W-F0= TG ;

11% TR 5,00,000
A w avig Ak @ == 1,10,000
gt =W 5,00,000
s wmol W afie e SR < 1,50,000
3. TOAET 2SR
qew g 6,30,000
S GO SACHRAl 5,00,000
[ 33,50,000
1L |uf<y:
1. -9 :
T W I 9 20,00,000

e . edEE WU
(9,00,000) | 11,00,000

gaAE i [T Yk

Wi AN ®R 6,00,000
et 14,50,000
= aaE REaterRt 2,00,000

T 33,50,000
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TAwforien s Rdwersll & e Sravaway aﬁzﬁwﬁ%%?ﬁﬁwﬁwﬁw
W g8 §'s: 2

(i) SR =T W T = W% = Rar @ F)
(ii) B W 7 =t &1 50% W% I Ry war 2

(i) 11% T 1y IR D FRAHR Y 50% T T Frn 760 2 3 T
7100 & R = 15% ¥ wRafda frar s 31

(iv) o= AT IERT 250,000 TF FH B G

 (v) wirad davure @ w4 @ WU sfREd W B W A 21,00,000 0
W U 9E9E B T R

(vi) Sl Sraames Aeie SfE Fa = 34 wRE R 1,50 000 TR TR A
HH T W 959 B T B

(vii) w7 SR BT R ¥ e 3w ) fier R w21 Ry = @ e
?2,60,000 3R e Fafer @ w3 ¥ 24,00,000 W g w2

e et e AR s gwiir am SR 9 (12)
|

(31) FnaRer g o AT A BRI D g I 3 W Al B S RRE
® T A R (¢)

(@) v fafes o 30w e 59 wow 2

et 3k iRt

2500 et AW URDF 7100 T : %2,50,000
| R T %(80,000)

fafaer d9ew . 31,25,000

qi %2,95,000

P
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dufa

i 3R e 71,30,000
AT A AR 375,000
I : 360,000
IR 320,000
qH ; 710,000
el : %2,95,000

mﬂgﬂﬁﬁwaﬁwﬁm%mﬁ%ﬁﬁmﬁ%mq%mm
e T 31 @ FRRT 9 dga T 210,00,000 1 T TR w1 EEEE
e et o form T B

(i) © s & eRad Juw sl i 260 ST T Y <100 & 2500 Efect
I TN T T

(i) SR IR arEl A 225000 &1 e YA TR S

200 TFFEA R Tt 5 AWERH! A T4 AT 4 FEEAf T 3R I I
Y 750 WY A TN W W @A T B

(iii) T8 @ Seaw U s @ @ GuRel @ s bR | o e
21

i frar T SR T R o T ¥ s S et |
3R TR e SR TR AR T QAR A (12)

3. (%) 319, 2022 ot Ry @ e O ofRe ot I it Fefale ®

ygen  (SfEe) ? | smewm (@lRe) 3
R ®h 1,50,000 | sREd I o | 5,00,000
W 3,80,000 | wa 10,000
GG 60,000 | fasht 11,50,000
me 2,000 | B¢ 6,300
FIR 25,000 | @y @ 1,70,000
AT 12,000 | fafyer @R 33,700
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T 15,000 | @ Red 82,000
MR =g 11,000 | &fewer o & forw weas 3,000
fafre Iww 54,000 | 3@ fa= 13,000
T AR =S 12,00,000
dF ¥ Twd 21,500
e 9,000
o fas ' 14,000
| = 6,500
BT & A 8,000
P o) 19,68,000 | =T 19,68,000
FfaRea s

(i) 319 =t T, T2,00,000 o

(ii) =t ST TRAA W 12%, TR T 10% 3R BT W 20% 1 TIo@ T
2

(iii) $E HETET STAEA FO 4,000 TQ A7 TR W 5% LT WG A 2
(iv) SEHT & 35% WAL & 21

(v) TR #ied F 25% wviiw Y RwRy &t 2

(vi) I T 10% SRR SRR & SEaRr el B

31 9+ 2022 I TH BN I 9 B Fw W 3R wR o Reer sk S8 aidE
= IefE fMe R A (18)

(37) Fr=fofae w feuoh fafye
JFQ vars e @ @ w

ST Je (TUH) 3 (S ok SraieeT womeh (vwa) 7 = S S AR |
(3+3)

PT.0,
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(@) 31 ¥, 2021 #k 2020 = R & a@ﬂ%ﬁﬁrﬁ%@aﬁﬂfﬁtﬁ‘%ﬁﬁaﬂt

f=fafaa 2
faaw 31.03.2021 | 31-03-2020
4 Z
I =R 3 eIl
1. AWURH & HE
(a) IR qat 13,50,000 13,50,000
(b) smfeE 3K SR :
() e Red 9,30,000 9,00,000
(i) ey @ 2,04,000 1,68,000
2. W-gdHH TAEIRA
(a) Erefeifolen SUR :
(@) 10% Suer = 8,10,000 —
3, gadF SHaIRaAl
(a) SR 3T (VFER) 4,02,000 5,04,000
(b) FeuehIcreh WL :
() aaIT & 30,000 2,25,000
Total 37,26,000 31,47,000
1159t
1. W-aa= St
(a) Gafd, ¥o SR ST 9,60,000 12,00,000
(b) W-=rg FEw 1,80,000 1,50,000
2. GO 9uid
(a) TaaF FRw 21,000 17,000
(b) ==ieq 6,30,000 7,20,000
(c) =R witei (IER) 13,65,000 4,30,000
(d) g IR THT LA 5,70,000 6,30,000
Total 37,26,000 31,47,000
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yRea st .

(i) o & <= 24,000 T R WA TR BAW 25,500 W ¥ F=T W7
(ii) = & FRFT aR H forg I 27,000 7T A

(i) =f = <k, 30,000 TR A AN A G, G SR ST w1 v
%mraaooom&ﬁ%mummaﬁwaﬁﬁmﬁmmﬁaﬁmw

a1

(iv) a&%aﬁwaﬁﬁqmmopoowwwﬁmwm
SE[HT TR (ew) 3 (V) & SrpEr Tt wate R dar SR

4. (1) W%Wﬁ%ﬁﬁqﬁ%ﬁaﬁ%ﬁm%:

(12)
(6)

(W) 31 fegmw 2022 &t Rufy & HIER Fom feifics o wrlie Sow Mo Fefiie

g .
faaem Hie e §
L s sk IJeRar
I IRURE & %
(a) W T (YDF 10 B 50,000 hrad IR) 5,00,000
(b) R 3R ey -
() wre Red 2,39,400
(i) wfenfy Sfem fad 1,00,000
(iii) Sferw @ (Iw uld) 1,57,600
2. WR-THE JTEN ¥l
3. IHAR SRR
(@) =R < (Rfdg Swer) 4,09,400
(b) S wrEE (R @ fore wEe) 1,97,000
@ 16,03,400

PT.O.
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1. sufa
1. Fw-adaF wufeEl
() @ wufEl ()
@) wE= St e 2.40,000
(i) R 1,00,000
2. qAAFT HaterE
(a) T¢I (W) 6,20,000
(b) =R Wt (SER) 2,06,000
(c) 7T 3 FAHT WA :
@) & F A= | 3,400
(i) ¥ F AHa 434,000
AT ) & 16,03,400

FHE YA FAH A 20% (m%m)mﬁaéﬁm?ﬁam%‘lﬁﬁﬁs

a9 @ e o T € AW FRAEER TR
T B A a 3
31-12-2020 2, 75,000
31-12-2021 i 3, 94,000
31-12-2022 3, 66,000

wHAY = qE 3,20,000 3| 29 YR @ HEE ¥ S AN 20% B H B X
50%%lw§ﬁﬁﬁﬁm%w§qaﬁmﬁwmmﬁﬁﬁ:

(i) FaRer 1 W
(i) 3™ & HUR |

(i) SFE T T (12)



i111

23
(57) T % @ foedl @ & = A

(i) sfffer womr aftiar
(ii) SR =7 aftha

(iii) FraRemes Fou aftia

(@) &0 wol e Ty T woEn @ ey ¥ FefiRes e Seee 2

(i) =t ¥ Fiia @
<
2019-20 2,00,000
2020-21 2,40,000
2021-22 : 2,20,000

(i) Rest & w™FT X 10%,
(iif) Fenfore SR 12,00,000,
(iv) 10% R 5 91 & T & w02 9 Qe o1 adam 959 = 378,

(v) @ ¥ 23000 & 3MEd MR R - a9 ;e 21

i & oA AR o i
(1) g® ¥ifthe =t 5 9@ o @IE D IR |
(2) =it vefa & Fgar |

(3) gsitentor Al & @R )

(3+3)

(12)

P10
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5. (%) FefeRes wwel @ w2 SRR ST, e T S SR TG sifee

Frafr &t o e
Teraror 3
O R gt 1,50,000
=fFadt I I 5,50,000
ol SR 2,00,000
siferay w@rar 1,00,000
e 2,70,000
saa g=igt 40,000
fesnl | 2,50,000
it | @ 20%
oF 9f N 360 o W+ i (6)
() widRe facha R = ot @ 27 HiaRe el RAET & o7 3T R TR
1 27 (12)
=
fad o W Aa g
(i) feeran Rafdar
(i) fouet dfew @ RAiéw i
(i) Sreasw Raféw |
(iv) Fapie ol |

(v) Sl yomed (TE) 20 % HFER SACE H 0T HO |
(6+6+6)

(10,000)



